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B 28empl T 30 ~ 38 cm 40 ~ 58 cm 60 cm B |
no
R 2F |28F | 1% |2% 3% (4% | & 1F|2%F13% 4% & 1% (2% (3% (4%
1952 9.3 7.3|8.7|8.7/0.9|25.5|23.3/15.4|13.8| 1.9|54.4| 3.8] 4.0] 2.4] 0.6]10.8
1956 15.1{ 5.3 | 8.6 [13.7 | 1.7 [29.3 | 11.5[14.3[17.4| 2.6|45.8| 2.0| 3.1| 3.9/ 0.8/ 9.8
1960 | 9.0 |15.7 | 3.8 8.3 [17.5| 2.4(32.0| 6.6(11.0|17.6| 3.2|38.4| 0.6] 1.7| 2.0| 0.6| 4.9
1965 |12.2 |16.6 | 4.5 | 6.8 |14.0 [10.0 |35.3 | 5.9 8.6|14.4| 1.7|30.6| 0.8] 1.4| 2.6| 0.5| 5.3
1970 |22.1 1.9 5.2 13.9 |14.0|35.0 | 2.8| 6.8{12.5| 0.9]23.0| 0.4| 1.1| 2.4 0.3| 4.2
(BHm?) 5
7r 3
§5' M OB | mEdTEE 52 56 %
%5 > 3 13.7(12.7) 8.8( 9.7 5.9(9.8) | —=
& < A 8 16C1.5) 0.6 0.7 0.2 0.4) | —=
4 Y H % 50(4.7) 3.4(37 4.4(7.2) | —>
Y% 16.2(35.1) | 10.9(12.0) 6.2(10.1) | ~s
3k n x5 2.2(2.0) L9C2.D 0.7C11) | ~a
35 40 45 50 B5 7 - — 5.9( 9.6
g () = v 3.5(3.2) 3.9(4.3) 2.003.4) | —s
4 S 6.4(5.9) 3.8(4.2) 2.003.4) | ~
v FE 2.3(2.1) 2.002.2) 1.5(2.5) | ~s
A 3.4(3.2) 2.5(2.8) 0.8(1.2) | ~—s
FANYS 0.4(0.4) 0.4 0.4) 0.3 0.5) | ~—=
1 2 7 F s 0.7¢0.7) 1.2( 1.4 0.1€0.2) |
e 0.3(0.3) 0.4C0.4) 0.100.D | g
0 2.2(2.1) 1.4( 1.5) 0.5 0.8) | ~s
38cm & B # 23.8(22.1) | 20.5(22.7) 13.3(21.8) | ~
rvTH 25.8(23.8) | 28.9(31.8) 17.2(28.1) | —x
= 107.6 ( 100) 90.6 ( 100) 61.0(100) | —=
58 6
1
ER | IR E B
———— $} B
(FEFD A B (e
4 o1 61| 1590 (100) | 2940
7t | 1090 (69) | 4610
. 81| 850 (53)| 6280
1994 40 1500 3 91| 960 (60) | 7270
0 65
1.4 13 101 | 1040 (65) | 7750
58 402
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